Exercise 14.1

Question 1:
Find the common factors of the given terms.

)] 12x,36 (i) 2y,22xy

(iii) 14pq,28p*q® (iv) 2x,3x%,4

) 6abc, 24ab?,12a’b (vi)  16x%,-4x?,32x

(vii) 10pq, 20qr, 30rp (viii) 3x°y*,10x’y?,6x°y’z
€. Answer 1:

(1) 12X =2%x2%x3xX

36=2x2x3x3

Hence, the common factorsare 2,2and3=2x2x3=12

(ii) 2y =2xy
22xy =2x11x xxy
Hence, the common factorsare 2and y = 2xy =2y

(iii) 1l4pg=2x7xpxq
28p°Q° =2x2xTx px pxQx(q
Hence, the common factors are 2x7x pxq=14pq

(iv) 2X =2xxx1
3x% =3xxx xx1
4=2x2x1

Hence, the common factoris 1.

v) 6abc =2x3xaxbxc
24ab* =2x2x2x3xaxbxb
12a’h=2x2x3xaxaxb
Hence, the common factors are 2x3xaxb =6ab

(vi) 16x% =2x2x2Xx2X XX XX X
—4x? =(—1)><2><2><X><X
32X =2x2x2x2x2xX
Hence, the common factors are 2x2x X =4x
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(vii) 10pg =2x5x pxq
20gr =2x2x5xqxr
30rp=2x3x5xrxp

Hence, the common factors are 2x5=10

(viii) 3XPY? =3x XX XX YXYXY
10x%y% = 2x5x XX XX XX Y X Y
BX°Y’Z = 2X3X XX XX YX YXZ

Hence, the common factors are XxXxx yxy = x*y?

Question 2:
Factorize the following expressions.
(i) TxX—42 (ii) 6p-12q
(iii) 7a’ +14a (iv) -16z+2072°
(v) 201°’m +30alm (vi)  5x’y—15xy°
(vii) 10a* —15b” + 20c? (viii) —4a®+4ab-4ca
(ix) X*yz +Xy°z + xyz’ (x)  ax’y+bxy” +cxyz
€. Answer 2:
(i) TX—42 = Txx—2x3x7
Taking common factors from each term,
=7 ( X—2X% 3)
=7(x=6)

(ii) 6p—-12q = 2x3x p—2x2x3x(
Taking common factors from each term,
= 2x3(p-2q)
=6(p-2q)

(iii) 7a’+14a=7xaxa+2x7xa
Taking common factors from each term,
= 7xa(a+2)

= 7a(a+2)
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(iv)

)

(vi)

(vii)

(viii)

(ix)

~16z +202° :(—1)><2><2><2><2><Z+2><2><5><Z><z><Z

Taking common factors from each term,
= 2><2><Z(—2><2+5>< sz)

= 4z(-4+52°)

201°’m+30alm =2x2x5xIxIxm+2x3x5xax|Ixm
Taking common factors from each term,
= 2x5xIxm(2x|+3xa)

= 10Im (2l +3a)

5X%y —15Xy? =5x Xx Xx Y +3x5x Xx Y x Y
Taking common factors from each term,

= 5xxxy(x-3y)
= 5xy(x—3y)

10a? —15b2 +20c? = 2x5xaxa—3x5xbxb+2x2x5xcxC
Taking common factors from each term,
= 5(2xaxa—3xbxb+2x2xcxc)

= 5(2a° —3p" +4c?)

—4a2+4ab—4ca=(—1)><2x2><a><a+2x2><a><b—2x2><c><a

Taking common factors from each term,
= 2><2><a(—a+b—c)

= 4a(-a+b+c)

X2YZ+ XY?Z+XYZ® = XX XX YXZ+XXYXYXZ+XXYXIXZ
Taking common factors from each term,

= XXyxzZ(X+Yy+2)

= Xyz(X+y+12)
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x) ax’y +bxy? + CxyZ = ax Xx XX Y +hx XX Yy X Y+ CX XX Yy X Z
Taking common factors from each term,
= xxy(axx+bxy+cxz)

= xy(ax+by+cz)
Question 3:
Factorize:
) X* + Xy +8x+8y (i)  15xy—6x+5y—2
(iii) ax+bx—ay—by (iv) 15pg+15+9q+25p
v) Z—T+7Txy—xyz
€. Answer 3:
) X* 4+ Xy +8X+8y =x(x+Yy)+8(x+Y)
= (x+y)(x+8)

(i) 15xy —6x+5y —2=3x(5y -2)+1(5y - 2)
= (5y—-2)(3x+1)

(iii) ax+bx—ay —by = (ax+bx)—(ay +by)
= x(a+b)-y(a+b)

= (a+b)(x-y)
(iv) 15pg+15+9q+25p=15pq+25p+9g+15
= 5p(39+5)+3(3q+5)
= (39+5)(5p+3)
(v) Z—T+7Xy—Xyz=7TXy—7—Xyz+12

= 7(xy—-1)—z(xy-1)
- (y-1)(7-2)= ()1 )(A)(z-7)

= (1-xy)(z-7)
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Exercise 14.2

Question 1:

Factorize the following expressions:
) a’+8a+16 (i) p*-10p+25
(iii) 25m? +30m +9 (iv) 49y +84yz +362°
(v) 4x* —8x+4 (vi)  121b* -88bc+16¢°
(vii) (1+ m)2 —4lm [Hint: Expand (I + m)2 first]

(viii)  a*+2a’v*+b*
€. Answer 1:
(i) a’+8a+16=2a’+(4+4)a+4x4
Using identity x*+(a+b)x+ab=(x+a)(x+b),
Here x=a,a=4andb=4
a’+8a+16 = (a+4)(a+4)=(a+4)’

(i) p?-10p+25=p*+(-5-5) p+(-5)(-5)
Using identity X* +(a+b)x+ab=(x+a)(x+b),
Here x=p,a=-5and b=-5
p2—10p+25:(p—5)(p—5):(p—5)2

(i)  25m*+30m+9=(5m)" +2x5mx3+(3)’
Using identity a*+2ab+b*=(a+ b)2 ,here a=5m,b=3

25m? +30m+9 = (5m+3)°

(iv) 49y? +84yz +362° = (7y)’ +2xTyx62 +(62)°
Using identity a®+2ab+b’ =(a+b)2, here a=7y,b =62
49y” +84yz +362° =(7y+62)2
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v) 4x% —8x+4=(2x)" —2x2xx2+(2)°
Using identity a® —2ab+b’ = (a—b)2 ,here a=2x,b=2
4x? —8x+4=(2x-2)" =(2)" (x-1)" =4(x-1)’

(vi) 121b? —88bc +16¢? = (11b)” —2x11bx4c +(4c)’
Using identity a>—2ab+b? =(a—b)’, here a=11b,b=4c
121b —88bc +16¢* = (11b—4c)’

(vii)  (1+m)° —4Im = 12+ 2xIxm+m?*—4Im [ (a+b)2=a2+2ab+b2}

=12+ 2Im+m? —4Im
=12-2lm+m?

= (|—m)2 [ (a—b)zzaz—ZabwLbz}

(viii)  a*+2a’’ +b* =(a’ )2 +2xa’ xb’+(b’ )2

= (a2+b2)2 [ (a+b)2=a2+2ab+b2}
Question 2:
Factorize:
) 4p*-99° (i)  63a*-112p?
(iii) 49x* —36 (iv)  16x° —144x?
v) (1+m)’ —(1-m)’ (vi) 9x’y*-16
i) (X -2xy+y?)-2° (viii) 25a% —4b? + 28bc —49c?
€. Answer 2:
M 4p°-99°=(2p) -(30)’
= (2p-3q)(2p+3q) [+ a’-b*=(a-b)(a+b)]

@ o= 7(oa 1) -7 G ()
= 7(3a—4b)(3a-+ 4b) [+ o b —(a—b)(a+b)]
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2 2

(iii) 49x* -36 = (7x)" —(6)
= (7x—6)(7x+6) [ a? —b? :(a—b)(a+b)]

(iv) 16x° ~144x° =16x° (x* -9)

=16x°| (x)" ~(3)’]

= 16x°(x-3)(x+3) [+ a’-b*=(a-b)(a+b)]

(v) (1+m)’ —(1-m)’ =[(1+m)+(1=m)][(1+m)—(1-m)]
[ a?—b? :(a—b)(a+b)]
= (l+m+l-m)(I+m—1+m)

= (2m)(2l)=4Im

2

(vi) 9x%y? -16 = (3xy)’ —(4)
= (3xy—4)(3xy +4) [+ a®-b*=(a-b)(a+b)]

(vii) (x2—2xy+y2)—22=(x—y)2—z2
[ (a—b)2 =a’ —2ab+b2}

= (x—y-2)(x-y+2) [ az—bzz(a—b)(a+b)]

(viii)  25a° —4b? +28bc—49c” = 25a° —(4b” — 28bc +49¢” )
= 2527 [ (2b)° ~2x2bxTc-+(7c)’ |
= 25a° —(2b-7c)’ [ (a-b)’ =a’ —2ab+b2}
= (5a)° —(2b-7c)’
= [5a—(2b-7c)][5a+(2b—7c)] [+ a’-b*=(a-b)(a+b)]

= (ba—2b+7c)(5a+2b—-7c)
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Question 3:
Factorize the expressions:

) ax® +bx (i) 7p*+219°
(iii) 2x3 +2xy? + 2xz° (iv)  am®+bm?+bn® +an’
(v) (Im+1)+m+1 vi) y(y+2)+9(y+z)
(vii) 5y* —20y—8z+2yz (viii) 10ab+4a-+5b+2
(ix) 6xy —4y+6-9x
€. Answer 3:
) ax’ +bx = x(ax+b)
(ii) 7p*+219° = 7(p° +30°)
(iii) 2X° +2xy° +2x2° = 2x(x* +y* +2°)
(iv) am? +bm? +bn® +an’ = m*(a+b)+n’(a+b)
= (a+b)(m*+n?)

(v) (Im+1)+m+1=1(m+1)+1(m+1) = (m+1)(1+1)

(vi) y(y+z)+9(y+z) = (y+2z)(y+9)

(vii) 5y*—20y—8z+2yz = 5y* —20y +2yz -8z

=5y(y-4)+2z(y-4)

= (y-4)(5y+2z)

(vii)  10ab+4a+5b+2 = 2a(5b+2)+1(5b+2)

= (5b+2)(2a+1)

(ix) 6Xy—4y+6-9x = 6xy—9x—4y+6

= 3x(2y-3)-2(2y -

= (2y-3)(3x-2)

3)
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Question 4:

Factorize:
) a*-b* (i) p*-81
(iii) x“—(y+z)4 (iv) x“—(x—z)4
(v) a*—2a’h” +b*
€. Answer 4:
) at—b* =(az)2 —(bz)2
= (a*-b%)(a’+b?) [ a®—b*—(a-b)(a+b)]
= (a—b)(a+b)(a’+b?) [+ a®=b’—(a-b)(a+b)]
)  p'-81=(p) ~(9y
= (p*-9)(p*+9) [ az—bz—(a—b)(a+b)}
= (p*=5°)(p"+9)
= (p-3)(p+3)(p°+9) [+ a®~b’—(a-b)(a+b)]

(iii) x“—(y+z)4=(x2)2—[(y+z)ﬂ2
= [ =(y+2)' ][ ¥ +(y+2) ] [+ a®-b*—(a-b)(a+b)]
=[x—(y+z)][x+(y+z)][x2+(y+z)2J [ a®—b’—(a-b)(a+b)]

= (x—y+z)(x+ y+z)[x2+(y+z)2}

(iv) x“—(x—z)“=(x2)2—[(x—z)2]2
= [xz—(x—z)zlx +(x—12) } [

= [x—(x—z)][x+(x+z)][ } [ a —bz—(a—b)(a+b)]
B

(a—b)2 =a’ —2ab+b2}

a’~b’—(a-b)(a+b)]

= (x—x+z)(x+x+z)(x +x2 2xz+z

= x(2x+2)(2%" —2xz + %)
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) a'-2a%’+b' = (a?) —2a%” +(b?)

= (az_bz)2 [ —b)’ =a? —2ab +b? }
=[(a-b)(a+b)] [+ a*-b*—(a-b)(a+b)]
= (a—bY (a+b)’ B X"y ]

Question 5:
Factorize the following expressions:
) p°+6p+8 (i) 9°-10q+21
(iii) p’+6p—16
€. Answer 5:
) p*+6p+8=p°+(4+2)p+4x2
= p°+4p+2p+4x2
= p(p+4)+2(p+4)
=(p+4)(p+2)

(ii) 9> -10q+21=q*—(7+3)q+7x3
= 0°-70-3q+7x3
= d(q-7)-3(a-7)

= (a-7)(a-3)
(iii) p>+6p-16=p’+(8-2)p—8x2

= p°+8p—-2p—8x2
= p(p+8)-2(p+8)

=(p+8)(p-2)
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Exercise 14.3

Question 1:
Carry out the following divisions:
) 28x* +56x (i) -36y°+9y?
(iii) 66 pg°r® =11qr? (iv)  34x’y’z®+51xy*z

) 12a°° +(-6a%")

&, Answer 1:
4 4
(i) 28" +56x = 20X - 28, X
56x 56 X
:%XQ' ': Xm_anxm—n:|
3 -36y° 36 °
ii —36y° +9y? = = ——x2-
(ii) y =9y 9y? 9 <V
= —4y [... Xm _Xn

66pq°’r® _ 66 pg’r’

66 pg°r® +11qr’ =
(iif) Pd q 11gr® 11 gr?

= 6pqgr [ XM ey = men]

34x°y’z® 34 X’y

iv 34Xy +Blxy? =L T = 22
() y Y 51xy’z® 51 «xy?’z’®

X2y [ XM X"

win

12a%® 12 a®p®
12a%h® = (-6a°%h* )= "= — = = x = —
W) ( ) —-6a’h* -6 ) a‘p*

= —2a’b* [ X"+ X"
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Question 2:
Divide the given polynomial by the given monomial:
(i) (5x* —6x)+3x (ii)

2,2 2,,2.3 2,,252

(iii) 8(x3y 2° + x*y%7% + X*y’z )+4x y’z

(3y°—4y° +5y4)+ a

(v) (¥ +2x7 +3x)+2x ™ (p°a°-p°d®)+p’e’
€. Answer 2:
2_
(i) (5% —6x) +3x = X~
X
2
3x 3x 3 3
. 3y® —4y° 15y
() (3 ey eBy') ey =
8 6 4
= 3%—4%+5L4 = 3y*—4y* +5
y y y
8(xy’z® +x*y’2* + x°y°2°
(iii) 8(x°y’2* +X°y° 1 +X°y’2° ) + 4X’y 2" = (X'y 4x2;/222 v'z’)
8X3 222 8X2 322 8X2 223
= 2y2 2 2y2 2T 2y2 7 = 2X+2y+2z
Ax°y°z® AXy°z° AX°yz
= 2(x+y+2)
, s aa X° +2%% +3x
(iv) (X*+2%% +3x)+2x = —————
2X
xX* 2x* 3x x> 2x 3 1
=+t = T+ = (X +2x+3)
2Xx 2x 2x 2 2 2 2
36 63
) (pa-pie)spit =
pq
_Pd° pa’ _ o p°
p3q3 p3q3
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Question 3:
Work out the following divisions:

(i) (10x-25)+5 (i)  (10x-25)+(2x-5)
(iii)  10y(6y+21)+5(2y+7) (iv)  9x’y*(3z-24)+27xy(z-8)
(v)  96abc(3a—12)(5b—30)+144(a-4)(h-6)
€. Answer 3:

M (10x-25):5=12%"2

_5(2x-5) _, .

5

.. (v 2\ 10X=25
(i)  (10x—25)+(2x-5)= 25)

_ 5(2x-5) s

~ (2x-5)
. _10y(6y+21)
(iii) 10y(6y+21)- 5(2y+7)——5(2y+7)

_ 2><5><y><3(2y+7) = 2xyx3=6y

5(2y+7)

Ix*y?(3z-24)

(iv) 9x*y?(3z—-24)+27xy(z-8)= 2139 (2-9)

9 xyxxyx3(z-8)

"7 xy(z-8)

96abc(3a—12)(5b—30)

W) 96abc(3a—12)(5b—30)+144(a—4)(b—6) = 144(a—4)(b6)

_ 12><4><2><abc><3(a—4)><5(b—6)

- 10ab
12x4x3(a—4)(b—6) e
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Question 4:

Divide as directed:
(i) 5(2x+1)(3x+5)+(2x+1)
(i)  26xy(x+5)(y—4)+13x(y—4)
(i)  52par(p+q)(q+r)(r+p)+104pqg(q+r)(r+p)
(iv)  20(y+4)(y*+5y+3)+5(y+4)
V) x(x+1)(x+2)(x+3)=x(x+1)
€. Answer 4:

5(2x+1)(3x+5)

) 5(2x+1)(3x+5)+(2x+1) = (2x+D)

= 5(3x+5)

26xy(x+5)(y—4)

(ii) 26xy (x+5)(y—4)+13x(y—4)= I3x(y—4)

_ 13x2x xy(x+5)(y—4)
13x(y—4)

= 2y(x+5)
(iii)

52pqr(p+q)(q+r)(r+p)+104pg(q+r)(r+p)= 52par(p+a)(a+r)(r+p)

104pq(q+r)(r+p)

_52par(p+q)(q+r)(r+p) _ 1
© 52x2x pq(g+r)(r+p) - Er(pJFQ)

(iv) 20(y+4)(y* +5y+3)+5(y+4)= 20(Y+54()3(/)J/j4+)5y+3)
= 4(y* +5y+3)

(v) X(X+1)(x+2)(x+3)+x(x+1)= X(X+1z((();ii;(x+3)
= (x+2)(x+3)
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Question 5:
Factorize the expressions and divide them as directed:

)  (y*+7y+10)+(y+5)

(i)  (m*-14m-32)+(m+2)

(i)  (5p*-25p+20)+(p-1)

(iv) 4yz(22+6z—16)+2y(z+8)

v)  5pa(p°-q*)+2p(p+q)

(vi)  12xy(9x* —16y”)+4xy(3x+4y)

(vii) 39y°(50y” —98)+26y*(5y+7)
€. Answer 5:

2
) (v2+7y+10)+(y+5)= ¥ V10

(y+5)
_ y?+(2+5)y+2x5 _ Y +2y+5y+2x5
(y+5) (y+5)
:—(y+(§)+(g)+5) [ X +(a+b)x+ab=(x+a)(x+b)]
y+2

m® —14m+32
(m+2)
_ M’ +(-16+2)m+(-16)x2
- (m+2)
_ (m—-16)(m+2)
(m+2)
= (m+2)

(i) (m*—14m+32)+(m+2) =

[ G +(a+b)x+ab:(x+a)(x+b)]

5pZ —25p+20
(iii) 5p?—-25p+20)+(p-1)="t——" "=~
_ 5p*-20p-5p+20

(p-1)
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_5p(p-4)-5(p-4)

(p-1)
_(5p-5)(p-4) _5(p-1)(p-4)
(p-1) (p-1)
=5(p-4)

4yz(z2 +62 —16)

(iv) 4yz(2° +62-16)+2y(z+8)=

2y(z+8)

_4y2[2+(8-2)2+8x(-2)]
- 2y(z+8)
_ 4yz(z—2)(z+8) “xX?+(a+b)x+ab=(x+a)(x+
~ 2y(z+8) (oo R 0)
=22(z2-2)
o Sl

() 5pa(p’-q°)+2p(p+q)=— (6+9)
_5pa(p-a)(p+a) @b —(a—b)(a+
T [ & -b’=(a-b)(a+b)]
=gq(p—q)

12xy(9x? —16y?
(vi) 12xy(9x2 —16y2)+4xy(3x+4y): y( y )

4xy (3x+4y)
) 12xy[(3x)2 —(4y)2}
© 4xy(3x+4y)
_ 12xy(3x—4y)(3x+4y) o a?_p2=(a—b)(a+
- 4xy(3x+4y) & olebas)]
= 3(3x—4y)
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39y°(50y° —98)
26y*(5y+7)

(vii)  39y*(50y* -98)+26y*(5y+7)=

_ 39y°x2(25y" -49)
26y? (5y+7)
39y x2[(5)" ~(7)]
26y° (5y+7)
_39y*x2(5y—-7)(5y+7)

26y” (5y+7) [+ a*-b" =(a-b)(a+b)]

= 3y(5y-7)
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Exercise 14.4

Question 1:
Find and correct the errors in the following mathematical statement: 4(X - 5) =4x-5

&, Answer 1:
LHS.= 4(x-5)=4x-20# RH.S.

Hence, the correct mathematical statements is 4(x—5) = 4x—20.

Question 2:
Find and correct the errors in the following mathematical statement: X(3X + 2) =3x"+2

€. Answer 2:
L.H.S. = x(3x+2)=3x"+2x# RHS.

Hence, the correct mathematical statements is X(3X + 2) =3x% + 2X.

Question 3:
Find and correct the errors in the following mathematical statement: 2x+ 3y =5xy

#. Answer 3:
LH.S. = 2x+3y # RH.S.

Hence, the correct mathematical statements is 2x+3y = 2x+3y.

Question 4:
Find and correct the errors in the following mathematical statement: X+ 2X+3X =5x

g, Answer 4:
L.H.S. = x+2x+3x=6x# R.H.S.

Hence, the correct mathematical statements is X+ 2X+3X =6X.
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Question 5:
Find and correct the errors in the following mathematical statement: 5y +2y+y—-7y =0

€. Answer 5:
LHS. =5y+2y+y—-7y=8y—-7y=y= RHS.

Hence, the correct mathematical statementsis 5y+2y+y—-7y =Y.

Question 6:
Find and correct the errors in the following mathematical statement: 3x + 2x = 5x°

#. Answer 6:
L.H.S. = 3x+2x=5x# R.H.S.

Hence, the correct mathematical statements is 3x+2X =5x.

Question 7:
Find and correct the errors in the following mathematical statement:

(2x)2 +4(2X)+7=2x"+8x+7
#. Answer 7:
LHS. = (2x)" +4(2x)+7=4x* +8x+7 = RH.S.

Hence, the correct mathematical statements is (ZX)2 +4(2x)+7 = 4%° +8x+17.

Question 8:
Find and correct the errors in the following mathematical statement:

(2x)2 +5X = 4X + 5% = 9x
#. Answer 8:
LHS. = (2x)" +5x = 4x? +5x # RHS.

Hence, the correct mathematical statements is (2x)2 +5x =4x? +5x.
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Question 9:
Find and correct the errors in the following mathematical statement:

(3x+2)" =3x2 +6x +4
€. Answer 9:
LHS. = (3x+2)" =(3x)" +2x3xx2+(2)" =9x* +12x + 4 = RH.S.

Hence, the correct mathematical statements is (3X + 2)2 =90x? +12x +4.

Question 10:
Find and correct the errors in the following mathematical statements:
Substituting x=-3 in:
(a) x*+5x+4 gives (-3)" +5(-3)+4=9+2+4=15
(b) x* -5x+4 gives (-3)" ~5(-3)+4=9-15+4=-2
(c) x*+5x gives (-3)" +5(-3)=-9-15=-24
€. Answer 10:
(@) LHS. = x* +5x+4
Putting X =-3 in given expression,
= (-38)° +5(-3)+4=9-15+4=-2= RHS.

Hence, x* +5x+4 gives (~3)" +5(-3)+4=9-15+4=-2.

(b) L.H.S.= x* —5x+4
Putting x=-3 in given expression,

= (-3)"-5(-3)+4=9+15+4=28 RHS.
Hence, x* ~5x+4 gives (-3)° —5(-3)+4=9+15+4=28.

(c) L.H.S. = x*+5x
Putting X =-3 in given expression,
= (-3)° +5(-3)=9-15=-6= RH.S.

Hence, x* +5x gives (-3)° +5(-3)=9-15=-6.
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Question 11:
Find and correct the errors in the following mathematical statement: (y —3)2 =y*-9
€. Answer 11:
LHS. = (y-3) = y*—2x yx3+(3)’ [-.-(a—b)2 =a’ —2ab+b2}
= y*—-6y+9= RHS.

Hence, the correct statements is (y —3)2 =y’ —6y+9.

Question 12:
Find and correct the errors in the following mathematical statement: (z +5)2 =7°+25
€. Answer 12:
LHS.= (z+5)° =2% +2x2x5+(5)’ ['.'(aer)2 =a’ +2ab+b2J
= 7*+10z+25

Hence, the correct statement is (z +5)2 =72+10z +25.

Question 13:

Find and correct the errors in the following mathematical statement:
(2a+3b)(a—b)=2a*-3p’
€. Answer 13:
L.HS. = (2a+3b)(a—b)=2a(a—b)+3b(a-b)
= 2a’ —2ab+3ab-3b® = 2a® +ab—3b* # R.H.S.
Hence, the correct statement is (2a+3b)(a—b)=2a’*+ab-3b’

Question 14:

Find and correct the errors in the following mathematical statement:
(a+b)(a+2)=a’+8
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€. Answerl4:
LHS.= (a+4)(a+2)=a(a+2)+4(a+2)

= a’+2a+4a+8=a’+6a+8= R.H.S.

Hence, the correct statement is (a+4)(a+2) = a’+6a+8.

Question 15:

Find and correct the errors in the following mathematical statement:
(a-4)(a-2)=a’-8

#. Answer 15:
LHS.= (a—4)(a-2)=a(a-2)-4(a-2)
= a’-2a—-4a+8=a’*-6a+8= R.H.S.

Hence, the correct statement is (a—4)(a—2) = a’-6a+8.

Question 16:

Find and correct the errors in the following mathematical statement:
€. Answer 16:
2
LHS.= X _1_1. Rris.
3x° 1

2
. 3X

Hence, the correct statement is —3 5 =1.
X

Question 17:

Find and correct the errors in the following mathematical statement:

2

X2

X o
3
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#. Answer 17:
3+l 3¢ 1

L.H.S. = =—+—
3x*  3x? 3x?
= 1+i2 # R.H.S.
3X
C 3% +1 1
Hence, the correct statement is T =1+—.
3X 3X
Question 18:

. . . . 3x 1
Find and correct the errors in the following mathematical statement: 12 2
X+

#. Answer 18:
3X
3X+2

LHS. = # R.H.S.

3x

Hence, the correct statement is = y
3X+2 3x+2

Question 19:

Find and correct the errors in the following mathematical statement: L
4x+3  4X

€. Answer 19:

L.HS. = 3 # R.H.S.
4x+3
. 3
Hence, the correct statement is = .
4x+3 4x+3
Question 20:
. , . . 4Xx+5
Find and correct the errors in the following mathematical statement: i 5
X
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#. Answer 20:
4x+5 4x 5 5

L.H.S. = =—+—=1+—= RHS.
4x 4x  4X 4x
Hence, the correct statement is AX+5 :1+£.
4x 4x

Question 21:
Find and correct the errors in the following mathematical statement: X435 =7X
€. Answer 21:
LHS. = X2 _TX 5 _TX 1. RHs.
5 5 5 5

7X+5 7x

Hence, the correct statement is = ? +1.
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